Dl j @9 S YeThIPE 3HAKa IOCJIE 3aIATOM, TTOPSIOK ONEpaIHii co
M CKOOKamu

Nwms: Hara:_ Omenka:
24(5,3+3,4)+ 6= 8(4,3-5,2)+4=

(6,4—3,9)x4,6+4,4= (2,8+6,6)x4,6—4,6=

2,6 —5,86—6)= 46,2 +2)+2 =

(6,8+2,1)x5,7-2,8= (12+6+6,3)x5,2 =

(12+4—-4,1)x3,7= (I5+5-2,5)%x3,2=

www.snowmath.com


https://www.snowmath.com

Dl j @9 S YeThIPE 3HAKa IOCJIE 3aIATOM, TTOPSIOK ONEpaIHii co
M CKOOKamu

Nwms: Hara:_ Omenka:
24(5,3+3,4)+6=3438 8(4,3—5,2)+4=-1.8
(6,4-3,9)%x4,6+4,4=159 (2,8+6,6)x4,6—4,6=238.64
2,6 —5,86—6)=2.6 46,2+2)+2=164
(6,8+2,1)x5,7—-2,8=4793 (12+6+6,3) x5,2=43.16
(12+4—-4,1)x3,7=-4.07 (15+5-2,5)%x3,2=1.6
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